Geometry A Name: \(t_b/!
1.1 - 1.3 Quiz Review Date: Period:

Use the diagram below to answer questions #1 — 5.

1) Give two other names for XY .
2 6 & & &P

¥, Y2, 2, X2, 2%, line g
2) Name three points that are collinear.

XY, 7
3) Name four points that are coplanar.
XIY’ Nl%
4) Name a pair of opposite rays.
—  —
X, Y1

5) Name the intersection of line h and plane M.

Pownt Y

Use the points A(4,—3),B(1,1),€(—1,2),and D(3, 5) for questions #6 — 9.

X|v Xl"’
6) What is the midpoint of AB ? A(q-a) g(,1) 10F
S 4l — 1 4 ! i
M' l—‘, 3._1' - .5.’ -i‘ ( 2. 6 ,l _ | I !
2" b 1 : L1 Lo
Yo Yy % Y (-.2: P [
7) WhatlsthemldeIntOfBC? B(\ l) C(’|7— PN NN T T T N Y T Y kRN L
08 6 4 22 L2 4 B 8 1
2F
M- (2,12 < (252) <[op)] e
2 2 -
. -1 B
_ 8t
8) Cisthe midpoint of AE. Find the coordinates of the other '1'0:
W

endpoint E.
Pattern fom Ato : \et 5, up b

fom Cto € | Endpomnt ?—Eﬁj

« distance fom A to D
9) Please fmd@ Round to the nearest tenth. A (q 5) ) (; g)

AD= {(3-4)% (5--3)"

: I )24 (543)*




10) a. Find AC b. Find HJ

———ax + 4—— — 12—

2 A N N - —o
A 14 B 3xkxk-4 C H 6x-5 J 4x-6 K
l%dxtl&:‘}xﬂ'} _X-g+__2(;g—.|1q

_%no :-3:” AC- e+ Wox -1f =129 = 6(m)-5
~— = 2%+Y4 i+l - QU
g i T e
-ETX;—‘ jrc2t -1 |Ha =14
x=t
11) Using the diagram below, is AB = CD? Show your work. . m) 1{1 ‘h-)
A(-23) &%

Ab: I(q-—z)‘+ (2-3)* D= [(3-2)% (4-0) B S, Y
: J(4+2)1+(-|)‘ i \l(—s)"..(-q)"- A B S v 6 N BN I
= Joen? = J26410
= {3641 = 4
= |ow o4 f

(A8 % 0
A6 ¥ CD becaust they are not e same c(2,0)  p(-3-4)
12) Please sketch the following: lengn

a. Aline that that is in the plane.

e ——

v

b. A plane and a line that does not intersect the plane.

[/

e

c. Aline that intersects a plane at one point.

17

f
!



13) Point B is between A and Con AC. AB= x+3, B

C=2x+1,and AC =10. Please solve for x

and find AB and BC. (Note : figure is not drawn to scale)

X+3 2%+ |
—® —&- \ 2 »
A B C
| |
10
W3 e2x+) =10 AB =243
3x+2t: (0 ‘E
- ,.q i
X=0 BC=2(2) v
&3 _
| BC 5 l
K=2

14) Using the diagram below, give two different examples of each of the following:

a. Asegment

-

/ Fy,

—
HG

4

._9
Gk

3,

—_
, G4

=

c. Aline

2 e & o
M, 16, B, GH \nem

In the diagrams below, M is the midpoint of the segment.

15) a. Find LN.
12 12
x + b 4." -
L M N
1/*“’ 't LM = 3+9
= -X
= \’)_
13y
3 LN = 12412

H Gl K|
b. Find PR.
\0 {0
4x—12  -2x+ 21
P M R
XA2= -24+ 20 PM = 4(6.6)-12
+ 2y YA
= 10
bx-y-'ll
+2 42
—— Pr=10+10

ks:32 [rreno |

=65



16) The map at the right is a map of places that Lizzie goes frequently. Coordinates are given in
miles. The locations that Lizzie visits are:

Home (0,0), Dunkin Donuts (6,3), NHS (7,5), and Library (-2, 4).

71
a. How far is it from Lizzie’s house to Dunkin Donuts to _ 6 I NHS
the nearest tenth? Library &
XY xl\ll . 4
(010) 9 (hﬂ)) 3
; : 2 Dunkin Donuts
D= {(6-0)% (3-0)* 1
— Home
= l6)4(3)? P i e S S S S N
3-2-1,01 2345617
= Lo -1

= \F'E A \(0-1m\\lf§

b. If Lizzie wanted to drive from NHS to the Library and make it back to school before the end of
the school day, how far would she have to travel in TOTAL to the nearest tenth?

XY, X2 Yz
(16) = (-2,4)
D= JCra): sy NS > Library : 9.1 e
+
= Jta) s (0r Wbrary > NHS & 9.0 miles

AT Total |\Q,2 miles ‘

J82 = 9.0 mites

Answer Key :

1) YX,YZ,ZY,XZ,ZX , line g/ Nx vy, zV

)XV, N, zV 4) YZ and e/

5) Point YV/ 6) (2.5,-1)V

7) (0, 1.5)/ 8)E(6,7) /

9) 8.1/ 10)a.28/  b.79 /

11) AB=6.1, CD = 6.4 ; Not congruent because they are not the same Iength./

12) a./ b 4 ;
ok [ ]

13) x=2, AB=5, BC =5V
[ _.__._.__._,\/

14)a. JH,HG,GF,KGY  b. HJ,FG,FK,GK,HGV ¢ JH,HJ,HG,GH, line mV
15)a.24\/  b.20,/ 16) a. 6.7 miles,/ b. 18.2 miles v/

c v




